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	Terms
	Definitions

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]circumference
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]distance around a circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]radius
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]a segment drawn from the center to a point on the circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]diameter
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]a segment that passes through the center of a circle with endpoints on the circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]arc
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]a curve with both endpoints on the circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]measure of an arc
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]number of degrees it occupies on a circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]length of an arc
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]fractional part of the circles circumference 
length = circumference x (fractional part of the circle determined by the arc)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]sector
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]region bounded by two radii and an arc of a circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]chord
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]a line segment joining two points on a circle. the diameter is the longest chord.

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]inscribed angle
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]an angle whose vertex is on the circle and whose sides are chords of the circle. measure = 1/2 measure of intercepted arc

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]altitude-hypotenuse ratios
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]whole hypotenuse ÷ leg = leg ÷ adjacent part of hypotenuse
part of hypotenuse ÷ altitude = altitude ÷ other part of hypotenuse

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]Pythagorean theorem
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]a² + b² = c²

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]distance formula
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]√[(x₁ - x₂)² + (y₁ - y₂)²]

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]special right triangles
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]30-60-90 x, x√3, 2x
45-45-90 x, x, x√2

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]sine
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]opposite / hypotenuse

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]cosine
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]adjacent / hypotenuse

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]tangent (ratio)
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]opposite / adjacent

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]concentric circles
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]two or more coplanar circles with the same center

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]if two chords of a circle ≅
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]then they are equidistant from the center

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]if two chords are equidistant from the center
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]chords are ≅

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]relationship between ≅ chords, arcs, and angles
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]≅ arcs <---> ≅ central angles <---> ≅chords

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]line of centers
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]line connecting centers of circles

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]if a line is perpendicular to a radius at its outer endpoint
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]then it is tangent to the circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]measure of inscribed and tangent-chord angles
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2 measure of intercepted arc

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]measure of chord-chord angles
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2 (measure of intercepted arc₁ + measure of intercepted arc₂)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]measure of secant-secant, secant-tangent, and tangent-tangent angles
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2 (measure of intercepted arc₁ - measure of intercepted arc₂)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]sum of tangent-tangent angle and its minor arc
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]180 degrees

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]inscribed polygon
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]all of its vertices lie on the circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]circumscribed polygon
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]each of its dies is tangent to the circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]circumcenter
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]center of a circle circumscribed about a polygon

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]incenter
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]center of a circle inscribed in a polygon

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]chord-chord power theorem
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]product of the measure of the segments of one chord is equal to the product of the measure of the segments of the other chord

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]tangent-secant power theorem
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]tangent segment is the geometric mean between the whole secant segment and the external secant segment

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]secant-secant power theorem
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]produce of the measures of one secant segment and its external part is equal to the product of the measures of the other secant segment and its external part

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of a rectangle, square, parallelogram
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]base x height

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of a triange
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2 base x height

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of a trapezoid
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2 height(base₁ + base₂) or Median x height

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]median
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2 (base₁ + base₂)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of a kite, rhombus, square
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2 x diagonal₁ x diagonal₂

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of an equilateral triangle
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif](s²/4)√3

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]radius of a regular polygon
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]segment joining the center to any vertex

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]apothem of a regular polygon
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]segment joining the center to the midpoint of any side

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of a regular polygon
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2 x apothem x perimeter

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of a sector
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif](measure of arc / 360) x area of the circle

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of segment
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif](region bounded by a chord of the circle and its corresponding arc) 
A(sector) - A(corresponding triangle)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]ratio of similar figures
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]A₁ / A₂ = (s₁ / s₂)²

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]a median of a triangle
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]divides the triangle into 2 triangles with equal areas

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]heros formula
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]√[s(s-a)(s-b)(s-c)]
(finds the area of a triangle)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]brahmaguptas formula
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]√[(s-a)(s-b)(s-c)(s-d)]
(only applies to the area of cyclic quadrilaterals)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]surface area of prisms and pyramids
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of base(s) + area of lateral faces

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]surface area of a cylinder
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif](circumference x height) + 2(r²π)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]surface area of a cone
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif](1/2 x circumference x slant height) + (r²π)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]total area of a sphere
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]4r²π

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]volume of a prism or cylinder
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif](area of base) x height

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]volume of pyramids and cones
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/3 x area of base x height

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]pyramid/cone ratio
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif](area of cross section / area of base) = (height from vertex to cross section / height)²

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]volume of a sphere
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]4/3r²π

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]coterminal angles
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]angles that have their terminal sides coincide when they are in standard position

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]cotangent
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]reciprocal and cofunction of tangent

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]secant
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]reciprocal of cosine
cofunction of cosecant

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]cosecant
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]reciprocal of sine
cofunction of secant

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]radian measure of θ
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]s/r

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]degrees --> radians
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]degrees x (π / 180)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]radians --> degrees
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]radians x (180 / π)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]area of sector (radians)
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]1/2r²θ or 1/2rs

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]circular functions
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]sin t = y
cos t = x
tan t = sin t / cos t

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]polar coordinate system
	(r, θ)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]coordinate conversion
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]r = x² + y²
x = r cos θ
y = r cos θ

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]law of cosines
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]c² = a² + b² - 2ab cos C
b² = a² + c² -2ac cos B
a² = b² + c² - 2bc cos A

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]law of sines
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif](sinA / a) = (sinB / b) = (sinC / c)

	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]SSA
	[image: http://b.quizlet.com/a/i/spacer.Thhr.gif]ambiguous case
can have no solution, one solution, or two solutions
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